STAT 703 - Problems for Week of April 11th-15th

Preparing for Chapter 15:

1) A player recently promoted to the major leagues has had 1 hit in his first 25 at bats.  What do you estimate his batting average to be?  (Batting average = % of times a hit is gotten in an at bat).  

2) Consider your answer in 1.  You are then told that the batting averages of professional major league players has a mean of around 0.266 and a standard deviation of around 0.026.  What do you think about your estimate in 1 now?

3)  Bayes Rule for Discrete Random Variables is found on page 19:
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A similar formula for continuous variables can be written
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where x is the observed data and  is a parameter.    

Imagine that we knew f(x|) and g() and wanted to find the maximum likelihood estimate of f(|x).  Why can we just find the value of  that maximizes f(x|) g() and not have to worry about the integral in the bottom?
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